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Q ] i Integer | 1 | Any data type that stores a whole number only
{AO2 1b)
Q2 It is a whole number/ no decimals/ to the nearest minute. 1
(AD2 1b)
Q3 print (hoursPlayed|0,2]) 1 Correct Answer Only
(402 1b)
Q4 0 ‘ 1 | Correct Answer Only
(AD2 1b)
QS B0 1 Correct Answer Only
(AD2Z 1b)
Q6 » Adding all correct elements 3 1 mark per bullet to a maximum of 3.
« Outputting correctly (AO3 2b)
If used, a flowchart should represent the bulleted steps
* Usingaloop in the answer column

e.g.

total = 0

for x=01to 4

total = total + hoursPlayed[0,x]
next x
print (total)




